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S ahor 93 a0 0
(a +b)* = a® + 2ab + b*
(a—b)* = a® — 2ab+ b*
Slador dw a0

(a+b+c)*=a’*+ b+ +2ab+ 2ac + 2be
oz 93 ¢ some CaSe
(a+b)* = a® + 3a’b + 3ab® + b°
g
(a—b)(a+b) =a®—b
oS ks o 3051
(z+a)(z+b) = 2>+ (a+ b)x + ab
o> SeaSs i 5 ¢ o
(a+ b)(a® — ab + b°) = a* + b*
(a—b)(a®* + ab+b*) = a® - b°
(50 s
(a+b+c)(a®+b +c —ab—ac—bc) =a’ +b° + ¢ — 3abe
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(a® +b°) (2 + y°) = (az + by)* + (ay — bz)”
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